=
<
T

(0 @) (rad)

=

<
N
|

1073

[y
TTTT] T T

107 1

2 3
TPlpoT (PCA t%obeamlinélf)

= T
:) I~ .
= - N
o N
ST :
o 10 g S AR
= E . .
5 : :
- E * E
10—2__ ............. Tt . ............
F :
- - E E
o e 1111 e S
B + :
4 AT REA RN A
Q18 :
*(-6' - N
o [
) el o 5 O

0.95
107

1

2 3
TPlpoT (PCA t%obeamlinélf)

—=— DQM_V0001_R000000001__Global_mKkFit_CANDFINAL 100stable
—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable3
—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable4444

SICEWATL

.

[y
TTTT] T

0.95

1071 1

o p/p.)

[any
<
i

1071 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


